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= 412,160
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Al 4,770,566
MNASZ 9220 XN (A2ESII=EEAH) 5,281,526 4,129,990 1,151,536
= 412,160
== 98,800
Al 4,770,566
o220 HI=E AZEYZ2 U= 4,719,046 3,481,730 1,237,316
308 MXISHMSOIA 4,719,046 3,481,730 1,237,316
05 ANXSHHM2AREEE S 4,719,046 3,481,730 1,237,316
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4,719,046,000& * 14 4,719,046
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26,000,000 * 14 26,000
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ZO0He B 0H XA 200,000 198,924 1,076
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= 20,000
Al 20,000
307 2Iz2to| A 200,000 198,924 1,076
= 160,000
& 20,000
Al 20,000
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800,000& = 2509 200,000
= 160,000
< 20,000
Al 20,000
ez 22gaa3 A 260,000 328,800 A 68,800
= 208,000
= 26,000
Al 26,000
307 glz2+ol & 260,000 328,800 A 68,800
= 208,000
< 26,000
Al 26,000
01 22724l 260,000 328,800 A 68,800
O HEs ¥ =2oRg 8233 S
22,7773 = 11,415%H 260,000
= 208,000
< 26,000
Al 26,000
250 == 22l 55,200 53,256 1,944
= 44,160
< 5,520
Al 5,520
101 124 dl 55,200 53,256 1,944
= 44,160
= 5,520
Al 5,520
4 D12t Z2XREES 55,200 53,256 1,944
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= 44,160
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Al 5,520
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= 3,014
Al 3,678
ol SHH(AE2ESII2 53 H) 30,800 26,626 4,174
= 24,108
< 3,014
Al 3,678
ol 2AH| 30,800 26,626 4,174
= 24,108
< 3,014
Al 3,678
101 @14 dl 30,800 26,626 4,174
= 24,108
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03 tegas 42,143 42,143 0
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